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FHEH WA 464,750 474,982 N 10,232
== 62,500
Al 402,250
SAFH EHMA MY 464,750 474,982 A~ 10,232
< 62,500
Al 402,250
A= pD -3 Ml 89,750 74,982 14,768
201 et AH| 89,750 74,982 14,768
01 AFR22|H] 89,750 74,982 14,768
OHFSHEZTAI - ZAF UEs=22 89,750
@21= 510t 50,0002 x700AH 35,000
OANE 50! 109, 5002 *500H 54,750
AFEEOl & DHZED| 125,000 400,000 275,000
< 62,500
Al 62,500
101 ol 24| 50,000 200,000 A 150,000
< 25,000
Al 25,000
04 JIZHIZZ2 RS2+ 50,000 200,000 A 150,000
OJIZINIZ2XE B4 50,000
< 25,000
Al 25,000
206 2| 75,000 200,000 A 125,000
< 37,500
Al 37,500
01 MHZHl 75,000 200,000 A 125,000
oMz R 75,000
== 37,500
Al 37,500
H0IE FoUSJAAY 250,000 0 250,000
401 Al&HI L 20 250,000 0 250,000
01 Al&HI 248,200 0 248,200
OEHNS XS ¢ OIS 2s&YE =4 248,200
03 AEE20HI 1,800 0 1,800
OgHdliE NS ¢ 02 s =4 1,800
TAZES ZHze 613,330 613,330 0
CANBE FES 613,330 613,330 0
Re S 53,000 53,000 0
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01 HARESFSH 3,000 3,000 0
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FANEE RNE=> 560,330 560,330 0
201 Let2d| 207,000 207,000 0
02 2Z223H| 207,000 207,000 0
0332= & HA 200,000
OA&EHI= Xl 7,000
206 M= dl 20,000 20,000 0
01 MHZ bl 20,000 20,000 0
OZAANE=2el M= 20,000
401 A EHIL 204 333,330 333,330 0
01 Al&t| 330,000 330,000 0
OZ3ANE=E A& € B 330,000
03 AIZR0iHl 3,330 3,330 0
OZAANE=E 8 2 B 3,330
Sa=sX =42l 639,200 375,537 263,663
2 2tel 639,200 375,537 263,663
XAIE2 EH 39,200 15,537 23,663
201 LetEIH| 11,200 7,285 3,915
01 AtR22/Hl 3,000 0 3,000
O=XA&L= EHl 3,000
02 3234l 8,200 7,285 915
OA&EEHI =X 5,000
OXt& =Xl 3,200
206 M=l 20,000 6,252 13,748
01 M=H| 20,000 6,252 13,748
O=sXAL2e 235 7L 20,000
405 AHeHESHI 8,000 2,000 6,000
01 HARESFSH 8,000 2,000 6,000
O=XZcl Edl 2 8,000
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& 131,697
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MEXR BESEA ,061,336 1,262,863 AN201,527
= 481,801
= 131,697
Al 447,838
=0t RI| ALY 377,520 605,318 A227,798
= 219,948
& 39,349
Al 118,223
101 Ql244| 180,515 390,942 AN210,427
= 108,308
& 18,052
Al 54,155
04 JIZPHZ22 XS 180,515 390,942 AN210,427
(OFE=PNE_EAPN; 16,852,500 »2H 33,705
= 20,222
& 3,371
Al 10,112
OKEHHIO| 2OH A = 13,346,360 x11Y 146,810
= 88,086
& 14,681
Al 44,043
201 L3I H| 14,849 54,113 A39,264
= 10,315
& 1,088
Al 3,446
01 AtE22|Hl 9,950 40,714 A 30,764
OK B0 20 A = Lyl 5,990
= 3,594
& 599
Al 1,797
O& S HIOI QO A = =d&dl 3,960
= 3,960
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0 Ak 2
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OAEHIOI QA& S EHIR X 3,115
= 1,869
= 31
Al 935
O ESHHIK A 1,784
= 892
= 178
Al 714
202 (4 i 1,198 5,154 N 3,956
= 719
== 120
Al 359
01 2Wodbl 1,198 5,154 N 3,956
O EHHIOIQIHA =& T AIE X & 1,198
= 719
== 120
Al 359
401 AIEHIZ 20| 179,281 146,869 32,412
= 99,600
= 19,921
Al 59,760
01 Al&H| 178,580 146,869 31,711
Og=2H™HA 19,374
= 10,763
= 2,153
Al 6,458
(OFSF==Er S| 33,336
= 18,520
= 3,704
Al 11,112
O3 LIRItRI| 77,189
= 42,883
= 8,577
Al 25,729
OZYZTAEII R 48,681
= 27,045
== 5,409
Al 16,227
03 Al =20HbI 701 0 701
OZUR It 701
= 389
= 78
Al 234
405 XHAMFSH| 1,677 8,240 N6,563
= 1,006
== 168
Al 503
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1,006
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134,320
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141,035
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101 1A 226,600 243,520 216,920

90,640
40,788
95,172

= N W

04 JIAHZZ2NHSE= 226,600 243,520 16,920
oMYA Z8 S 5,640,000 x40 225,600
90,240

40,608
94,752

= N W

250,000 4% 1,000
2 400
= 180
Al 420
201 Yer29H| 41,499 32,850 8,649
2 16,600
= 7.470
Al 17,429
01 A2 22l 38,300 32,850 5,450
OM QI & 3 JH| 22,500
2 9,000
= 4,050
Al 9,450
OUNESAIN 22= 400,0002 355 14,000
2 5,600
= 2,520
Al 5,880
OMEXE SAH 5,000 x360 1,800
2 720
= 324
Al 756
02 2229 3,199 0 3,199
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2 204
= 9%
Al 214
OME2ANE XZH AAL(SMR)
84,0302 *32CH 2,689
2 1,076
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11,676
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= NN

405 AHoHESHI 1,431 0 1,431
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01 ML =ESF=H 1,431 0 1,431
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= HnH
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20,928
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= N W

04 JIZHMIZE2XNSE = 39,489 39,516 N7
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FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K Ol Ak O it
OZAlsXIZ2l@ Q2 13,163,008 *2¢ 26,326
= 15,796
= 3,158
Al 7,372
OZLZAIZ2IQ Q2 13,163,002 %1 13,163
= 7,898
= 1,580
Al 3,685
201 Yer2gy| 2,209 2,702 ~493
= 1,326
= 265
Al 618
01 At 2tel| 2,209 2,702 493
O A=l e Lyl 728
= 437
= 87
Al 204
O=LZAIZEIQ S| 364
= 219
= 43
Al 102
O A=XZe2 DS 745
= 447
= 90
Al 208
O=LT A2l DS 372
= 223
= 45
Al 104
AFEI M HIA 20 2121 Y| 81,760 104,516 22,756
= 81,760
301 LBIR AR 81,760 104,516 N22,756
= 81,760
09 BURRRARAS 81,760 104,516 ~22,756
OAEIAHIAZO0F QA 1,514,070% +54% 81,760
= 81,760
BHSHHY (A ASD) 84,090 72,290 11,800
2 (e AED) 84,090 72,290 11,800
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201 Ygr2y| 42,570 38,090 4,480
01 At 2tel| 34,720 30,240 4,480
oYst+gHY 21,700
oz 13,020
02 ZZ2YY| 7,850 7,850 0
0OBZR2 2 HMA 7,850
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